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QUESTION 1

You are creating a CIFS-based SVM, but the SVM cannot join the domain.

In this scenario, which two actions would be helpful in troubleshooting the problem? (Choose two.)
A. Verify that the clocks are synchronized between the SVM and the domain controller.

B. Verify that each node has a data LIF.

C. Verify that the data LIF can access the Active Directory domain controller.

D. Verify that the cluster admin account is used to join the Active Directory.

Correct Answer: BC

QUESTION 2

An administrator created an SVM for a VMware vSphere 6.5 cluster. For the SVM, the NFS protocol was enabled. Data
LIFs were configured with jumbo frames. The nfsO1 volume was created and mounted as

junction path /nfsO01. A VMware export policy that allowed all the hosts of the cluster was applied to the
SVM. However, the hosts are unable to mount the volume.

In this scenario, what caused the problem?

A. NFS v3 is not compatible with ESXi hosts.

B. The volume is not thin provisioned.

C. The maximum transmission unit (MTU) was not set properly on the ESXi hosts.

D. The default export policy needs to allow reads from the ESXi hosts.

Correct Answer: C

QUESTION 3

What are three tiering policies that are associated with a FabricPool-enables aggregate? (Choose three.)
A. backup

B. mirror-vault

C. local-only

D. auto

E. snapshot-only
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Correct Answer: ADE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
psmg%2FGUID149A3242-B120-49CB-B712-BDDED53ED25D. html

QUESTION 4

When you create a FlexVol volume, which security style is applied by default?
A. the security style of the root volume of the cluster

B. UNIX

C.NTFS

D. the security style of the SVM root volume

Correct Answer: A

QUESTION 5

An administrator enabled the iSCSI protocol on an SVM and created a LUN for a Windows 2016 system.
After a rescan, the LUN is not visible on the host.

In this scenario, which two statements describe what the administrator must do to solve this problem?
(Choose two.)

A. Create an initiator group (igroup), add the iSCSI IQN, and map the igroup to the LUN.

B. Create an initiator group (igroup), add the WWPN of the host initiator, and then map the igroup to the LUN.
C. Disable the ALUA support from the host for the LUN.

D. Configure the iSCSI service on the Windows 2016 system.

Correct Answer: AC

NS0-160 PDF Dumps NS0-160 Study Guide NS0-160 Braindumps

NS0-160 PDF Dumps | NS0-160 Study Guide | NS0-160 Braindumps 3/3


https://www.pass4itsure.com/ns0-160.html
https://www.pass4itsure.com/ns0-160.html
https://www.pass4itsure.com/ns0-160.html
http://www.tcpdf.org
https://www.pass4itsure.com/ns0-160.html
https://www.pass4itsure.com/ns0-160.html
https://www.pass4itsure.com/ns0-160.html

